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def step_decay (epoch) :
initial_lrate = 0.0001 # FERO¥HAE
drop = 0.5 # EEERIL 50%
epochs_drop = 10.0 10 TRV I EBICHET S
[rate = initial_lrate * math. pow(
drop,
math. floor ((epoch) /epochs_drop)
)

return lrate
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loss="sparse_categorical_crossentropy'
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from tensorflow. keras import datasets, utils

import tensorflow as tf



(x_train, t_train), (x_test, t_test) = datasets.cifar10. load_data()

x_train = tf. image. resize(x_train, [64, 64])

# One-Hot £ %475 a— FZiEM
t_train = utils. to_categorical (t_train, 10)
t_test = utils. to_categorical (t_test, 10)
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# BREHEII ORI FOE—RE
loss="categorical_crossentropy’
# 47T 4 <4 —I% Adam
optimizer=optimizers. Adam(lr=0.001),

metrics=["accuracy’'])



